AC = 16,BC = 14, DE //BC, AB//EF
A o, x+y 2] Zol]&E FotHA?

D 12 @15 ® 17
@ 19 ® 21

AD =
AE =

AE =EC, AB//EF ©|E2

Ly=7T
J8B2 x+y=15




th2 24 BC 9] £HE M, AM 9] =
S N o]gtal 5}k AABN = 7cm? 4 o,
AAMC 9] Ho]=?

® 10cm? @ 1lecm? @ 12cm?

@ 13cm? @14 cm?

B

AABN = iAABC, AAMC = %AABC ,

AAMC = %AABC = 14(cm?)

7= }L x AABC , (AABC 2] ¥o])= 28 cm? ,




3.

ohe 197} Zo] AD £ /BAC 9] o] 52 40]1 AB = 6, AC = 8

o o, AABD €} AACD 9] Ho]e] H]&=?

D 2:3 @3;4 3 4:9
® 9:16 ® 27:64

AABD 2} AACD £ 22 =0]|E 7R ER Ho]9] H|E= T
Zole] |} Zrt,
AB:AC=BD:DC=3:49°]22 AABD: AACD=3:4

_q]




4.

o 194 A E,F & AD 9] 457 e]1 AD & 2ABC 9

o

Aolet. aCEF =5 % W, aABC ©] ol & Fafofet.

A
E
F
BIDlC
> =
> Heh: 30

A E,F 7} AD 9] A5 EHo|E&2 AACD = 3ACEF o],
AABC = 2AACD = 6ACEF ©]t}. uf2bx AABC = 6ACEF =

6 x5 =30 °|c}.




oF 294 A G7F aABC Y FAFHLY W, 5 yE Flelet,

1— 1
CG:GE=2:1°BE26:y=2:1




6. U3 17 HPAHY ABCD o4 H E =
AAGO =6cm? € 4], cABCD 9] Ho|& HI=2 A

A D

@ 48 cm? @ 60cm? ®)72 cm?

@ 84 cm? ® 96 cm?

H G £ AABC 9] #AEA0| B
AABC = 6AAGO = 6 x 6 = 36 (cm?)
. ODABCD = 2aABC = 2 x 36 = 72 (cm?)




@ 9cm @)10cm @ 1lcm @ 12cm ® 13cm

x:(x-2)=5:4
4x = 5x—-10
. x=10(cm)




